
Histogram of x

x

D
en

si
ty

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0



Histogram of rnorm(10)

rnorm(10)

D
en

si
ty

−1 0 1 2

0.
00

0.
05

0.
10

0.
15

0.
20

0.
25



Histogram of rnorm(10)

rnorm(10)

D
en

si
ty

0.0 0.5 1.0 1.5 2.0 2.5 3.0

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0



Histogram of data

data

D
en

si
ty

1.0 1.5 2.0 2.5 3.0

0.
0

0.
2

0.
4

0.
6



Histogram of data

data

D
en

si
ty

−4 −2 0 2

0.
0

0.
1

0.
2

0.
3

0.
4



Histogram of data

data

D
en

si
ty

−3 −2 −1 0 1 2 3

0.
00

0.
05

0.
10

0.
15

0.
20



Histogram of data

data

D
en

si
ty

−6 −4 −2 0 2

0.
00

0.
05

0.
10

0.
15

0.
20



Histogram of data

data

D
en

si
ty

1 2 3 4 5 6 7 8

0.
00

0.
02

0.
04

0.
06

0.
08

0.
10

0.
12

0.
14



Histogram of data

data

D
en

si
ty

5.0 5.5 6.0 6.5 7.0 7.5 8.0

0.
00

0.
05

0.
10

0.
15

0.
20

0.
25

0.
30


